
MATHS

BOOKS - NAVBODH MATHS (HINGLISH)

CIRCLE

4.1 (1 mark each)

1.  circle (s) can pass through a given point.

A. One

B. Two

C. Three

….............

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Q7aGL949RjqJ


D. Infinite.

Answer: D

View Text Solution

2. Two circles of radii 5.5 cm and 3.3cm respectively touch

each other. What is the distance between their centre ?

A. 4.4 cm

B. 8.8 cm

C. 2.2 cm

D. 8.8 or 2.2 cm

Answer: D

https://dl.doubtnut.com/l/_Q7aGL949RjqJ
https://dl.doubtnut.com/l/_nKsZwrCe61AB


Watch Video Solution

3. What is the measure of a semicircle ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

90∘

180∘

360∘

270∘

https://dl.doubtnut.com/l/_nKsZwrCe61AB
https://dl.doubtnut.com/l/_EIxa0A2SiIIY


4. If the measure of an arc of a circle is  , then what is

the measure of its corresponding arc ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

60∘

60∘

120∘

30∘

300∘

5. Length of a tangent segment drawn from a point

which is at a distnace 12.5 cm from the centre of a circle

https://dl.doubtnut.com/l/_lm4R5Ld01nGZ
https://dl.doubtnut.com/l/_fsMoLA0KRROw


is 12cm , find the diameter of the circle.

A. 25 cm

B. 24 cm

C. 7 cm

D. 14 cm

Answer: C

Watch Video Solution

6. If two circles touch externally , how many common

tangents can be drawn to them ?

A. One

https://dl.doubtnut.com/l/_fsMoLA0KRROw
https://dl.doubtnut.com/l/_kW2YVHGVSIIG


B. Two

C. Three

D. Four

Answer: C

Watch Video Solution

7.  is inscribed in arc ACB of a circle with centre O

. If  , find m ( arc ACB ) .

A. 

B. 

C. 

∠ACB

∠ACB = 65∘

65∘

130∘

295∘

https://dl.doubtnut.com/l/_kW2YVHGVSIIG
https://dl.doubtnut.com/l/_66LU2lAnQraF


D. 

Answer: D

Watch Video Solution

230∘

8. Chords AB and CD of a circle interset inside the circle

at point E. If AE = 5.6 , EB = 10 cm , CE = 8 ,find ED.

A. 7

B. 8

C. 11.2

D. 9

Answer: A

https://dl.doubtnut.com/l/_66LU2lAnQraF
https://dl.doubtnut.com/l/_91DQB7g6PMkk


Watch Video Solution

9. In a cyclic  ABCD, twice the measure of  is thrice

the measure of  . Find the measure of .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

□ ∠A

∠C ∠C

36∘

72∘

90∘

108∘

https://dl.doubtnut.com/l/_91DQB7g6PMkk
https://dl.doubtnut.com/l/_6iJ1VSeg99Mt


10. Points A,B,C are on a circle, such that m( arc AB ) = m (

arc BC )  . No point, except point B, is common

to the arcs. What type is the ?

A. Equilateral triangle

B. Scalene triangle

C. Right angled triangle

D. Isosceles triangle

Answer: A

Watch Video Solution

= 120∘

ΔABC

https://dl.doubtnut.com/l/_6SbCdOlvuA2o


11. From the information given in the figure, find the

measure of . 


A. 

B. 

C. 

D. 

∠AED

42∘

30∘

36∘

72∘

https://dl.doubtnut.com/l/_F5kVZ3UXx1C7


4.2 (1 mark each)

Answer: C

Watch Video Solution

1. In the figure, seg PQ is tangent OP is the radius,

 , then the measure of  is 

 and the measure of  is 

∠OQP = 40∘ ∠OPQ

….......... ∠POQ

https://dl.doubtnut.com/l/_F5kVZ3UXx1C7
https://dl.doubtnut.com/l/_lIh0jMd2M7Fg


 

Watch Video Solution

…....................

2. In the figure , PQ and PR are tangents drawn from and

external point P to the circle with centre O. Q and R are

the points of contact. If PQ = 5 cm then what is the

https://dl.doubtnut.com/l/_lIh0jMd2M7Fg
https://dl.doubtnut.com/l/_ICUV6VNR2P09


length of segment PR ? Why ? 

Watch Video Solution

3. Two circles with radii 3 cm and 2.5 cm touch each

other externally then find the distance between their

centre.

Watch Video Solution

https://dl.doubtnut.com/l/_ICUV6VNR2P09
https://dl.doubtnut.com/l/_60ACxxi4tYVE


4. In the figures,  is inscribed in arc ABC and

intercepts arc AXC and  is inscribed in arc BCD

and intercepts arc BYD. If  and m ( arc BYD

)  then the m ( arc AXC ) =  and measure of 

 

W h Vid S l i

∠ABC

∠BCD

∠ABC = 30∘

= 80∘ …....

∠BCD = ….........

https://dl.doubtnut.com/l/_DNzgp2sukBlt


Watch Video Solution

5. Chords AB andCD of a circle with centre O are

congruent. If m(arc AXB)  then what is the

m(arc( CYD). 

Watch Video Solution

= 120∘

https://dl.doubtnut.com/l/_DNzgp2sukBlt
https://dl.doubtnut.com/l/_9rJPVFIT4Fq0
https://dl.doubtnut.com/l/_QGgot68T7qVD


6. In the figure, ray BC is tangent at point B and ray BA is

secant.  intercepts are AXB if m(arc AXB )

 then find the measure of . 


Watch Video Solution

∠ABC

= 130∘ ∠ABC

https://dl.doubtnut.com/l/_QGgot68T7qVD


7. In the figre, ray QR is tangent and ray QP is secant.

 is inscrbed in arc PMQ . and 

initerceptsarc PQ.If  then what is the

measure of  ? Why ? 


Watch Video Solution

∠PMQ ∠PQR ∠PMQ

∠PQR = 75∘

∠PMQ

https://dl.doubtnut.com/l/_7TAeNEcmODvq


8.  PQRS is cyclic . If  then what is the

measure of  ? Why ? 


Watch Video Solution

□ ∠QPS = 115∘

∠QRS

https://dl.doubtnut.com/l/_SQ7eqxucxtJs


9. Chords AB and CD intersect at point M inside the

circle then theorem of internal division of chords. 

 


Watch Video Solution

AM × BM = □ × □

https://dl.doubtnut.com/l/_bD36oj9Avai3


4.3 (1 mark each)

1. If two circles have radii 10 cm and 15cm and they touch

each other. Find the distance between their centres.

Watch Video Solution

2. In the figure,tangents at B and C of the circle with

centre O intersect at point A. If  then∠BAC = 90∘

https://dl.doubtnut.com/l/_8wgrxYoIcuY7
https://dl.doubtnut.com/l/_aZUp0FmQXdFg


prove BACO is a square 

Watch Video Solution

□

3. In the figure , points G,D,E,F are concyclic points of a

cicle with centreC. 

https://dl.doubtnut.com/l/_aZUp0FmQXdFg
https://dl.doubtnut.com/l/_O5348Lhe2auO


 


m ( arc DGF ) , 


find m(arc DE) and m(arc DEF ) . 

Watch Video Solution

∠ECF = 70∘

= 200∘

https://dl.doubtnut.com/l/_O5348Lhe2auO


4. In the figure, chord AB  chord CD 

Prove that , 

ar AC  arc BD 


Watch Video Solution

≅

≅

https://dl.doubtnut.com/l/_G9nqXxPS6qDA


5. Prove that, angles inscribed in the same arc are

congruent 

 and  are inscribed in the same arc. 


Arc PXR is intercepted by the angles. 

To prove  


 

Proof  


 …...  


 ....(2)  


 ......[ From (1) and (2) ] 


 ...(Angles equal in measure are

congrument )

Watch Video Solution

∠PQR ∠PSR

: ∠PQR ≅∠PSR

:

m∠PQR = m(arcPXR)
1

2
□

m∠ □ = m(arcPXR)
1

2
□

∴ m∠ □ = m∠PSR

∴ ∠PQR ≅∠PSR

https://dl.doubtnut.com/l/_UW92MyOqSTOw
https://dl.doubtnut.com/l/_sGmyYMhnFwqq


6. Observe the following figure and complete the

following activity 



 

Watch Video Solution

:

∠ABC  is 90∘

7. In order to prove 'Opposite angles of a cyclic

quadrilateral are supplementary .' 

https://dl.doubtnut.com/l/_sGmyYMhnFwqq
https://dl.doubtnut.com/l/_VCCfgq3W9NVx


(1) Draw a neat labelled figure. 

(2) Write 'Given ' and 'To prove' from the figure drawn by

you.

Watch Video Solution

8. Chord AB and CD intersect each other at point E in the

initerior of the circle. In order to prove

Watch Video Solution

∠CEB = [m(arcAD) + m(arcCB)]
1

2

9. In the figure, 

m ) arc NS )  
= 125∘

https://dl.doubtnut.com/l/_VCCfgq3W9NVx
https://dl.doubtnut.com/l/_hTW7ZZuzYq5R
https://dl.doubtnut.com/l/_XSbBZLvTy2Lf


m ( arc EF ) =  


find the measure , 


Watch Video Solution

37∘

∠NMS

10. In the figure, chords AC and DE intersect at B. If

, m (arc AE ) , find m (arc DC). 
∠ABE = 108∘ = 95∘

https://dl.doubtnut.com/l/_XSbBZLvTy2Lf
https://dl.doubtnut.com/l/_06wik83L77jc


Watch Video Solution

11. In the figure, ray PQ touches the circle at point Q. If

PQ =12, PR = 8, then find PS. 

https://dl.doubtnut.com/l/_06wik83L77jc
https://dl.doubtnut.com/l/_2cQX9BxQiikJ


4.4 (1 mark each)

Watch Video Solution

1. In the figure, O is the centre of circle 

and m (arc PYR ) , then find the value of each of

the following  


(a) m ( arc QXR ) 

∠QPR = 70∘

= 160∘

:

https://dl.doubtnut.com/l/_2cQX9BxQiikJ
https://dl.doubtnut.com/l/_kaojFDDnhXKK


(b)  

(c )  

Watch Video Solution

∠QOR

∠PQR

2. In the figure, chord  tangent DE. Tangent DE

touches the circle at point C then prove AC = BC. 

AB ∣ ∣

https://dl.doubtnut.com/l/_kaojFDDnhXKK
https://dl.doubtnut.com/l/_rUHlLa12sVsx


Watch Video Solution

3. Given  

 ABCD is cyclic.  is an exterior angle of 

ABCD. 

To Prove  

:

□ ∠DCE □

: ∠DCE = ∠BAD

https://dl.doubtnut.com/l/_rUHlLa12sVsx
https://dl.doubtnut.com/l/_5x6dCRC0BBgY


Complete the proof by filling the boxes. 

Watch Video Solution

4. In the figure ,  is an equilateral triangle. 


Prove that 

(1) arc RS  arc QR 

(2) m (arc QRS ) . 


ΔQRS

≅arcQS ≅

= 240∘

https://dl.doubtnut.com/l/_5x6dCRC0BBgY
https://dl.doubtnut.com/l/_6hnl7yK3KsHA


Proof  


Watch Video Solution

:

5. Line l touches a circle with centre O at point P. If

radius of the circle is 9 cm, answer the following  


(1) What is d(O,P) = ? Why ? 

:

https://dl.doubtnut.com/l/_6hnl7yK3KsHA
https://dl.doubtnut.com/l/_gmfbaN9Uq5AG


(2) If d(O,Q) = 8 cm , where does the point Q lie ? 

 

(3) If d( O,R ) = 15 cm , how many locations of point R are

line on line l ? At what distance will each of them be

from point P?

Watch Video Solution

6. In the figure, M is the centre of the circle and seg KL is

a tangent segment. If  then find, 
MK = 12, KL = 6√3

https://dl.doubtnut.com/l/_gmfbaN9Uq5AG
https://dl.doubtnut.com/l/_FVHITEuZBn3q


(1) Radius of the circle, 

(2) Measures of  and . 


Watch Video Solution

∠K ∠M

7. In the figure, 

(1) m (arc CE ) , m (arc BD ) , find measure of 

 . 


(2) If AB = 4.2 , BC = 5.4 , AE = 12.0, find AD . 

= 54∘ 23∘

∠CAE

https://dl.doubtnut.com/l/_FVHITEuZBn3q
https://dl.doubtnut.com/l/_eoTkAU6zpTD8


(3) If AB = 3.6, AC = 9.0 , AD = 5.4 , find AE. 

Watch Video Solution

8. In the figure, two circles intersect at points M and N.

Secants drawn through M and N intersect the circles at

points R,S and P,Q respectively. Prove that  seg SQ : ∣∣

https://dl.doubtnut.com/l/_eoTkAU6zpTD8
https://dl.doubtnut.com/l/_Iuj5xNDc02m6


seg RP. 

Watch Video Solution

9. Given  Line ET is tangent to the circle at point E. Line

EAB is secant intersecting at point A and B. 

To Prove  

Construction  Draw seg BT and Seg AT 

:

: ET 2 = EA × EB

:

https://dl.doubtnut.com/l/_Iuj5xNDc02m6
https://dl.doubtnut.com/l/_czl2utje9DCd


4.5 (1 mark each)

Complete the proof by filling the boxes. 

Watch Video Solution

https://dl.doubtnut.com/l/_czl2utje9DCd


1. In the figure, O is the centre of the circle . Seg AB is the

diameter at the point C on the circle the tangent CD is

drawn. Line BD is a tangent to the circle at point B. Show

that seg OD  chord AC. 

Watch Video Solution

∣∣

https://dl.doubtnut.com/l/_MvYDg43g3kyg


2. In . A circle passing through B

touches side AC at its midpoint P and intersects side AB

at Q then prove BQ = 3AQ 

ΔABC, AB = AC

https://dl.doubtnut.com/l/_MvYDg43g3kyg
https://dl.doubtnut.com/l/_WnZvpPqQu9Oc


Construction  Draw seg BP and seg PQ 

Watch Video Solution

:

https://dl.doubtnut.com/l/_WnZvpPqQu9Oc


3. In the figure,  is a parallalogram. It

circumscribes the cirlcle with centre T. Point E,F,G,H are

touching points. If AE = 4.5 ,EB = 5.5 , find AD. 

Watch Video Solution

□ ABCD

https://dl.doubtnut.com/l/_z1PVNNhFgTqC
https://dl.doubtnut.com/l/_iYfPvoTlf3e9


4. In  P,Q and R are midpoints of sides AB,AC

and BC respectively. Seg  and PQ || BR side BC.

Prove that  PQRS is a cyclic quadrilateral. 


Watch Video Solution

ΔABC,

AS ⊥ BC

□

https://dl.doubtnut.com/l/_iYfPvoTlf3e9


5.  is inscribed in a circle with centre O and line

AP is a tangent at the point A. Ray AF is the bisector of

 

Prove that seg  seg PE. 


Watch Video Solution

ΔABC

∠BAC

AP ≅

https://dl.doubtnut.com/l/_QN68UtaKC42y


6. Let M be a point of contact of two internally touching

circles. Let line AMB be their common tangent. The

chord CD of the bigger circle touches the smaller circle

at the point N. Chord CM and chord DM of the bigger

circler intersect the smaller circle at the points P and R

respectively. 

Prove that . 
∠CMN ≅∠DMN

https://dl.doubtnut.com/l/_PkAPcObfiPip


Construction  Draw seg NR. 

Watch Video Solution

:

7. Two circles intersect each other at point P and Q.

Secants drawn through p and Q intersect the circles at

points A,B and D,C 

https://dl.doubtnut.com/l/_PkAPcObfiPip
https://dl.doubtnut.com/l/_cOgTjMk75A9V


ASSIGNMENT 4.1

Prove that  

Watch Video Solution

: ∠ADC + ∠BCD = 180∘

1. The angle made by the tangent and the radius made

at the point of contact is

A. 0∘

https://dl.doubtnut.com/l/_cOgTjMk75A9V
https://dl.doubtnut.com/l/_RLOjRAf6C675


B. 

C. 

D. 

Answer: C

Watch Video Solution

45∘

90∘

75∘

2. A tangent AB, at a point A of a circle of radius 5 cm,

meets a line through the centre O at point B such that

OB =12 cm. Length AB is

A. 5 cm

B. 12 cm

https://dl.doubtnut.com/l/_RLOjRAf6C675
https://dl.doubtnut.com/l/_hV6cws7Qq15j


C. 13 cm

D.  cm

Answer: D

Watch Video Solution

√19

3. If tangents PA and PB from a point P to a circle with

centre O are inclined to each other at an angle of ,

then  is equal to

A. 

B. 

C. 

70∘

∠POA

70∘

55∘

100∘

https://dl.doubtnut.com/l/_hV6cws7Qq15j
https://dl.doubtnut.com/l/_Vg3FD0WUZzXB


D. 

Answer: B

Watch Video Solution

40∘

4. If TP and TQ are two tangents to a circle with centre O,

so that , then  is equal to

A. 

B. 

C. 

D. 

Answer: C

∠POQ = 120∘ ∠PT Q

120∘

30∘

60∘

90∘

https://dl.doubtnut.com/l/_Vg3FD0WUZzXB
https://dl.doubtnut.com/l/_zLnfrYWAaPA9


Watch Video Solution

5. AP is tangent to the circle with centre O at point A. OP

=10 cm and . The radiu of the circle is

A. 10 cm

B. cm

C. 5 cm

D. 

Answer: C

Watch Video Solution

∠OPA = 30∘

5√3

10√3cm

https://dl.doubtnut.com/l/_zLnfrYWAaPA9
https://dl.doubtnut.com/l/_WmzIBxdkpo0g


6. In the figure, if  , then  

A. 

B. 

C. 

D. 

∠ABC = 60∘ ∠AOC =

120∘

60∘

30∘

90∘

https://dl.doubtnut.com/l/_njcnF79BRV57


Answer: A

Watch Video Solution

7. In the figure, chords AD and BC intersect each other at

right angles at a point P. If , then 

 

∠DAB = 35∘

∠ADC =

https://dl.doubtnut.com/l/_njcnF79BRV57
https://dl.doubtnut.com/l/_bvQODqvKkWbm


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

35∘

55∘

65∘

45∘

8. In the figure ,  has its vertex outside the circle

such that m ( arc QR ) =  and m ( arc ST ) ,

∠QPR

200∘ = 90∘

https://dl.doubtnut.com/l/_bvQODqvKkWbm
https://dl.doubtnut.com/l/_X0zusYlV61lq


then  ? 

A. 

B. 

C. 

D. 

∠QPR =

45∘

100∘

110∘

55∘

https://dl.doubtnut.com/l/_X0zusYlV61lq


Answer: D

Watch Video Solution

9. In the figure,  then find the measure of 

 . 


A. 

B. 

∠PQR = 85∘

∠PT R

75∘

180∘

https://dl.doubtnut.com/l/_X0zusYlV61lq
https://dl.doubtnut.com/l/_0fuislCJONIm


ASSIGNMENT 4.2

C. 

D. 

Answer: D

Watch Video Solution

90∘

85∘

10. In the figure ,  then find the measure

of  .

Watch Video Solution

∠ABC = 80∘

m(arcAPC)

https://dl.doubtnut.com/l/_0fuislCJONIm
https://dl.doubtnut.com/l/_2McwXU9WpnTY


1. In the figure,O is the centre of the circle PQ is the

tangent at point P then what is the measure of  ?

Why ? 

Watch Video Solution

∠OPQ

https://dl.doubtnut.com/l/_BVyJN772eX9i


2. Two circles with radii 5cm and1.5 cm touch each other

internally then find the distance between their centres.

Watch Video Solution

3. In the figure, m ( arc PAQ ) =m (arc RBS ) 

chord PQ has length 10cm then what is the length of

= 130∘

https://dl.doubtnut.com/l/_yA8SYaXXM753
https://dl.doubtnut.com/l/_i1vRLvESZeEq


chord RS ? Why ? 

Watch Video Solution

4.  PQRS is cyclic .T is a point of ray SR such that S-R-T

and  then what is the measure of  ?

□

∠QRT 100∘ ∠SPQ

https://dl.doubtnut.com/l/_i1vRLvESZeEq
https://dl.doubtnut.com/l/_z4msjuVxBjbs


Why ? 

Watch Video Solution

5. In the figure , chords PQ and RS intersect at point T

outside the circle then by theorem of external division of

chords, 

https://dl.doubtnut.com/l/_z4msjuVxBjbs
https://dl.doubtnut.com/l/_YTK818qv4wCx


 


Watch Video Solution

PT × □ = ST × □

6. Ray BA is tangent at point A . Ray BD is secant

intersecting the circle at points C and D then 

https://dl.doubtnut.com/l/_YTK818qv4wCx
https://dl.doubtnut.com/l/_LweJXcTUzawJ


ASSIGNMENT 4.3

 


Watch Video Solution

BA2 = □ × □

1. In the figure, O is the centre of the circle ,

, m ( arc APC )  then find the∠BAC = 80∘ = 60∘

https://dl.doubtnut.com/l/_LweJXcTUzawJ
https://dl.doubtnut.com/l/_Zs17BQJvF3QP


measure of 

(i)  (ii) arc BQC 

Watch Video Solution

∠ABC

https://dl.doubtnut.com/l/_Zs17BQJvF3QP


2. In the figrure, Q is the centre of the circle and PM and

PN are tangent segments to the circle. If 

, find  


Watch Video Solution

∠MPN = 40∘

∠MQN

3. In the figure , if m ( arc DXE 0 =  and m (arc AYC ) 

, find . 

100∘

= 40∘ ∠DBE

https://dl.doubtnut.com/l/_McE5GiD9QdsH
https://dl.doubtnut.com/l/_yPfcoPyHuu0M


Watch Video Solution

4. In the figure, point P is the centre of the circle and line

AB is the tangent to the circle at the point T. The radius

https://dl.doubtnut.com/l/_yPfcoPyHuu0M
https://dl.doubtnut.com/l/_gqx3zX8CaVeA


of the circle is 6 cm . Find PB, if  

Watch Video Solution

∠T PB = 60∘

5.  is cyclic , 

.Find measures of 

 and  .

Watch Video Solution

□ MRPN

∠R = (5x − 13) ∘ , ∠N = (4x + 4) ∘

∠R ∠N

https://dl.doubtnut.com/l/_gqx3zX8CaVeA
https://dl.doubtnut.com/l/_Eu9VHZM2Ilky


6. In the figure, if  , find TS 

Watch Video Solution

PQ = 6, QR = 10, PS = 4

7. In the figure, circles with centres X and Y touch

internally at point Z. Seg BZ is a chord of bigger circle

and it intersects smaller circlea t point A. Prove that , seg

https://dl.doubtnut.com/l/_cUdBknQTr1xK
https://dl.doubtnut.com/l/_pcsbfvk3m1sq


AX  seg BY 

Watch Video Solution

∣∣

8. In the figure, chord  chord GH. 


Prove that , 

chord EG  chord FH . 

Fill in the blanks and write the proof . 

EF ∣ ∣

≅

https://dl.doubtnut.com/l/_pcsbfvk3m1sq
https://dl.doubtnut.com/l/_v8CQUpO9ADju


Proof  Draw seg GF. 


 ….( ) …..(1) 


 …(Inscribed angle theorem ) ...(2) 


 ....(Inscribed angle theorem ) ...(3) ,brgt 

m ( arc EG )  ....[From (1), (2) and (3) ] 


 Chord EG  Chord FGH ....(Corresponding chords of

congruent arcs ) 

Watch Video Solution

:

∠EFG = ∠FGH □

∠EFG = □

∠FGH = □ ∴

= □

∴ ≅

https://dl.doubtnut.com/l/_v8CQUpO9ADju
https://dl.doubtnut.com/l/_2EgZrtMibiWM


9. In the figure, m (arc LN ) , m ( ar PQ ) = 

then complete the following activity to find  


 


 


 


 

Watch Video Solution

= 110∘ 50∘

∠LMN

∠LMN = [m(arcLN) = − □ ]
1

2

∴ ∠LMN = [ □ − 50∘ ]
1

2

LMN = × □
∴

_

1

2

∴ ∠LMN = □

https://dl.doubtnut.com/l/_2EgZrtMibiWM


10. In the figure, A is the centre of the circle. AN = 10 cm .

Line MN touches the circles in point M. If MN = 6 cm then

find the radius of the circle. 

Watch Video Solution

https://dl.doubtnut.com/l/_8GZ58nqzoeLQ


11. Two circles intersect each other in points A and B. Seg

AB is the chord of both the circles . Point C is in the

exterior point of both the circles on the line AB. From

the point C tangents are drawn to the circles touching

at M and N as shown. Completely the following to prove

CM= CN. 

Proof  


 ....( ) ....(1) 


 ...(Tangent secant segment property )

....(2) 

 From (1) and (2), 


 


:

CM 2 = CA × □ □

CN 2 = □ × CB

∴

CM 2 = □

https://dl.doubtnut.com/l/_wpuT8Dqk3OHQ


ASSIGNMENT 4.4

 

Watch Video Solution

∴ CM = CN

https://dl.doubtnut.com/l/_wpuT8Dqk3OHQ


1. In the figure, P is the cnetre of the circle. If

 then find 

(1) m(arc QRS) (ii) m ( arc QST ) (iii) m (arc RTS ) 

Watch Video Solution

∠QPR50∘ , ∠RPS = 60∘ , ∠SPT = 100∘

https://dl.doubtnut.com/l/_GDGiWdOdbe00


2. In the figure, if  then prove that 

 is cyclic. 


Watch Video Solution

∠ADC = ∠CBP

□ ABCD

3. square ABCD is a cyclic quadrilateral in which AB = AD .

 . Find (i) m (arc BCD) (ii) m (arc BAD) (III) ∠BCD = 70∘

https://dl.doubtnut.com/l/_VKI6WoNFOQB2
https://dl.doubtnut.com/l/_H6MoSKhpo2QG


Watch Video Solution

∠ADB

4.  is a rectangle. Taking AD as a diameter a

semicircle AXD is drawn which intersets diagonal BD at

X. If AB = 12 cm , AD == 9 cm , find the values of (i) BD (ii)

BX. 

□ ABCD

https://dl.doubtnut.com/l/_H6MoSKhpo2QG
https://dl.doubtnut.com/l/_xclpBlhoQDY0


Watch Video Solution

5. Circles with centres A,B,C and radius 5 cm each, touch

each other externally in the points D,E, and F as shown in

the figure. 

(i) What is the perimeter of ? 


(ii) What is the length of side of side DE and ? 


ΔABC

ΔDEF

https://dl.doubtnut.com/l/_xclpBlhoQDY0
https://dl.doubtnut.com/l/_J5z1dxvvtTND


Watch Video Solution

6. In the figure, diameter AB and chord CD intersect in

point E. 

If m (arc CXB ) = . Find 

(i)  

(ii)  


100∘

∠ADC

∠CDB

https://dl.doubtnut.com/l/_J5z1dxvvtTND
https://dl.doubtnut.com/l/_itvFaxK2Nzi7


(iii)  


Watch Video Solution

∠ACB

7. In the figure, m ( arc NS )  


m (arc EF ) . Find 


(i)  


(ii)  


= 130∘

= 60∘

∠NMS

∠ENF

https://dl.doubtnut.com/l/_itvFaxK2Nzi7
https://dl.doubtnut.com/l/_OGueohyAXyuv


( iii)  

Watch Video Solution

∠NFS

8. In the figure, two chords AB and CD are parallel to

each other. P is the centre of the circle. 

https://dl.doubtnut.com/l/_OGueohyAXyuv
https://dl.doubtnut.com/l/_UGIBWJQPllN2


Show that  . 


Watch Video Solution

∠CPA ≅∠DPB

9.  is a cyclic quadrilateral, m (arc ABC) =

then find  and  

□ ABCD 220∘

∠ABC, ∠CDA ∠CBE

https://dl.doubtnut.com/l/_UGIBWJQPllN2
https://dl.doubtnut.com/l/_E4EEnTtal8TV


Watch Video Solution

10. In the figure, O is the centre of the circle and B is a

point of contact. Seg OE  seg AD, AB = 12, AC = 8, find⊥

https://dl.doubtnut.com/l/_E4EEnTtal8TV
https://dl.doubtnut.com/l/_m7MMuXAKED9l


(i) AD (ii) DC (iii) DE. 

Watch Video Solution

11. In the figure , O is the radius of the circle. From point

R, seg RM and seg RN are tangent segments touching

the circle at M and N. If OR = 10cm and radius of the

circle = 5 cm, then (i) What is the length of each tangent

https://dl.doubtnut.com/l/_m7MMuXAKED9l
https://dl.doubtnut.com/l/_TIPPw4nd08IZ


segment ? (iii) What is the measure of  ? (iii)

What is the measure of  ?

Watch Video Solution

∠MRO

∠MRN

12. In the figure , circles with centres X and Y touch

internally at point Z. Seg BZ is the chord of bigger circle

and it intersects smaller k circle at point A. 

https://dl.doubtnut.com/l/_TIPPw4nd08IZ
https://dl.doubtnut.com/l/_DrrmAxfaA5pi


ASSIGNMENT 4.5

Prove that seg  seg BY. 


Watch Video Solution

AX ∣ ∣

https://dl.doubtnut.com/l/_DrrmAxfaA5pi


1. In the figure, two circles intersect each other at points

A and B . C is a point on the smaller circle. Secant CA and

secant CB of the smaller circle intersect the bigger circle

at points D and E respectively then prove  seg DE  line

CF 

Watch Video Solution

: ∣∣

https://dl.doubtnut.com/l/_ZptUHWLvCWTE


2. In the figure , in a circle with centre O, length of chord

AB is equal to the radius of the circle. Find the measure

of each of the following  


(1)  

(2)  


(3) arc AB 

:

∠AOB

∠ACB

https://dl.doubtnut.com/l/_9FYBcXL5pxnA


(4) arc ACB 

Watch Video Solution

3. In the figure, chord MN and chord RS intersect at

point D. 

https://dl.doubtnut.com/l/_9FYBcXL5pxnA
https://dl.doubtnut.com/l/_RVCES0KLIstg


(1) If RD = 15, DS = 4, MD = 8 , find DN. 

92) If RS = 18, MD = 9 , DN = 8 , find DS . 

Watch Video Solution

4. In the figure, circle with centre M touches the circle

with centre N at point T. Radius RM touches the smaller

https://dl.doubtnut.com/l/_RVCES0KLIstg
https://dl.doubtnut.com/l/_ApAZxQzce726


circle at S. Radii of circles are 9 cm and 2.5 cm. Find the

answers to the following questions hence find the ratio

MS  SR 


(1) Find the length of segment MT 

(2) Find the length of seg MN 

(3) Find the measure of . 


Watch Video Solution

:

∠NSM

https://dl.doubtnut.com/l/_ApAZxQzce726


5. In the figure, seg AB is a diameter of a circle with

centre C. Line PQ is a tangent , which touches the circle

at point T. seg AP  line PQ and seg  line PQ. 


Prove that, seg  seg CQ. 


Watch Video Solution

⊥ BQ ⊥

CP ≅

https://dl.doubtnut.com/l/_ApAZxQzce726
https://dl.doubtnut.com/l/_cCizY01KQ9un


6. In the figure, line l touches the circle with centre O at

point P. Q is the midpoint of radius OP. RS is a chord

thorugh Q such that chords RS  line l. If RS = 12 , find

the radius of the circle. 

Watch Video Solution

∣∣

https://dl.doubtnut.com/l/_IozzdtYHg5LP


7. Prove the any three points on a circle cannot be

collinear .

Watch Video Solution

8. In the figure, seg MN is a chord of a circle with centre

O. MN = 15, L is a point on chord MN such that ML = 9

https://dl.doubtnut.com/l/_ptXJuwO87jdH
https://dl.doubtnut.com/l/_BEljmaH1kws1


EXAMPLES FOR PRACTICE

and d( O, L ) = 5. Find the radius of the circle. 

Watch Video Solution

https://dl.doubtnut.com/l/_BEljmaH1kws1


1. How many circles can be drawn to pass through three

non-collinear points
1 (b) 2 (c) 0
(d) as many as possible

A. 1

B. 0

C. 2

D. 3

Answer: A

Watch Video Solution

2. A tangent AB, at a point A of a circle of radius 5 cm,

meets a line through the centre O at point B such that

https://dl.doubtnut.com/l/_qDy3Spb8dQ6Q
https://dl.doubtnut.com/l/_lvFENt8MkN61


OB =12 cm. Length AB is

A. 5 cm

B. 12 cm

C. 13 cm

D.  cm

Answer: D

Watch Video Solution

√119

3. If tangents PA and PB from a point P to a circle with

centre O are inclined to each other at an angle of  ,

then  is equal to

70∘

∠POA

https://dl.doubtnut.com/l/_lvFENt8MkN61
https://dl.doubtnut.com/l/_7c6b8sj87h9P


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

70∘

55∘

100∘

40∘

4. If TP and TQ are two tangents to a circle with centre O

, so that , then  is equal to

A. 

B. 

∠POQ = 120∘ ∠PT Q

120∘

30∘

https://dl.doubtnut.com/l/_7c6b8sj87h9P
https://dl.doubtnut.com/l/_J9aTogeD4tDs


C. 

D. 

Answer: C

Watch Video Solution

60∘

90∘

5. In the figure, sides of  are tangents to the

circle touching the circle at points P, Q abd R as shown. If

AQ=3 cm, BR=7 cm and PC= 4 c m, then perimeter of

△ ABC

https://dl.doubtnut.com/l/_J9aTogeD4tDs
https://dl.doubtnut.com/l/_l3JaeI91bW10


 is 

A. 14 cm

B. 28 cm

C. 20 cm

D. connot be determined

Answer: B

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_l3JaeI91bW10


6. AP is tangent to the circle with centre O at point A. OP

=10 cm and . The radiu of the circle is

A. 10 cm

B.  cm

C. 5 cm

D.  cm

Answer: C

Watch Video Solution

∠OPA = 30∘

5√3

10√3

https://dl.doubtnut.com/l/_L76rGc9zIHsv


7. In the given figure, if AP= PB, then 

A. AC=AB

B. AC=BC

C. AB=BC

D. AQ=QC

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PfhIco8X0RJQ


8. In the figure, a circle touches the side DF of 

at H and touches line ED and EF at points K and M

respectively. If EK =9cm , then perimeter of  is 


A. 18 cm

B. 9 cm

C. 13.5 cm

D. connot be determined

△ EDF

△ EDF

https://dl.doubtnut.com/l/_dv21YWtPLLsB


Answer: A

Watch Video Solution

9. The side AB, BC and CA of triangle ABC touch a circle

at P,Q and R respectively. If PA =4 cm, BP=3 cm and AC=11

cm, then length of BC is 

A. 11 cm

https://dl.doubtnut.com/l/_dv21YWtPLLsB
https://dl.doubtnut.com/l/_Q8MoUouu736i


B. 10 cm

C. 14 cm

D. 15 cm

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Q8MoUouu736i


10. In the figure, if  , then  

A. 

B. 

C. 

D. 

∠ABC = 60∘ ∠AOC =

120∘

60∘

30∘

90∘

https://dl.doubtnut.com/l/_XmJB4ZVlOPcq


Answer: A

Watch Video Solution

11. In the figure, chords AD and BC intersect each other

at right angles at a point P. If , then 

 

∠DAB = 35∘

∠ADC =

https://dl.doubtnut.com/l/_XmJB4ZVlOPcq
https://dl.doubtnut.com/l/_oSzDcEFXkY8l


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

35∘

55∘

65∘

45∘

12. PQRS is a cyclic uadrilateral such that PR is the

diameter of the circle. If  and 

, then 

A. 

∠QPR = 50∘

∠SPR = 60∘ ∠QRS = …….

50∘

https://dl.doubtnut.com/l/_oSzDcEFXkY8l
https://dl.doubtnut.com/l/_CMtYpaVW0hIQ


B. 

C. 

D. 

Answer: D

Watch Video Solution

60∘

110∘

70∘

13. In the figure, O is the centre of the circle such that

, then  
∠AOC − 140∘ ∠ABC = …….

https://dl.doubtnut.com/l/_CMtYpaVW0hIQ
https://dl.doubtnut.com/l/_nhwptUnLQ1ty


A. 

B. 

C. 

D. 

Answer: B

140∘

110∘

70∘

90∘

https://dl.doubtnut.com/l/_nhwptUnLQ1ty


Watch Video Solution

14. If P,Q,R are three points which lie on the circle with

centre O such that

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∠POQ = 110∘ , ∠QOR = 130∘ ,  then ∠PQR = ……..

110∘

130∘

60∘

120∘

https://dl.doubtnut.com/l/_nhwptUnLQ1ty
https://dl.doubtnut.com/l/_o8OSBs54H8Bo


15. In the figure, chords PQ and RS intersect at T as

shown. If  and m(arc SQ)= , then 

 


A. 

B. 

C. 

∠PSR = 42∘ 42∘

∠ST Q = …….

63∘

42∘

90∘

https://dl.doubtnut.com/l/_NPnPPZAHnAwH


D. connot be determined

Answer: A

Watch Video Solution

16. In the figure,  is cyclic,  and 

, then  


□ PQRS ∠SPQ = 7x ∘

∠SRQ = 11x ∘ ∠MPS = …….

https://dl.doubtnut.com/l/_NPnPPZAHnAwH
https://dl.doubtnut.com/l/_Xxdh2u4J1gNk


A. 

B. 

C. 

D. 

70∘

110∘

120∘

60∘

https://dl.doubtnut.com/l/_Xxdh2u4J1gNk


Answer: B

Watch Video Solution

17. In the figure,  has its vertex outside the circle

such that m(arc QR)=  and m(arc ST)= , then 

∠QPR

200∘ 90∘

https://dl.doubtnut.com/l/_Xxdh2u4J1gNk
https://dl.doubtnut.com/l/_O3orZQGUkqyj


 


A. 

B. 

C. 

D. 

∠QPR = ………

45∘

100∘

110∘

55∘

https://dl.doubtnut.com/l/_O3orZQGUkqyj


Answer: D

Watch Video Solution

18. In the figure, chord AB and chord CD intersect at

point M inside the circle such that AM=4, BM=3, CM=2,

https://dl.doubtnut.com/l/_O3orZQGUkqyj
https://dl.doubtnut.com/l/_E4PuyjqigVNc


then  


A. 6

B. 3

C. 7

D. 8

CD = ………

https://dl.doubtnut.com/l/_E4PuyjqigVNc


Answer: D

Watch Video Solution

19. In the figure, ray PT touches the circle at point T and

line PAB is secent intersecting the circle at points A and

B, then 

https://dl.doubtnut.com/l/_E4PuyjqigVNc
https://dl.doubtnut.com/l/_IRaSSgyegvmG


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PT = PA × PB

PT 2 = √PA × AB

PT 2 = PA × PB

PT 2 = PA2 × PB2

20. Find the length of tangent segment drawn to a circle

with radius 5 cm from a point 13 cm from the centre of

the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_IRaSSgyegvmG
https://dl.doubtnut.com/l/_v0uYMDnHsAQp


21. In the figure, line RS is tangent at point Q. If

 find m(arc PMQ) and m(arc PNQ ). 


Watch Video Solution

∠PQS = 65∘

22. In the figure, line TA is tangent at point T,

 and PA=7.8 cm then find PT and TA. 
∠PAT = 30∘

https://dl.doubtnut.com/l/_7OgWtcMYMJFp
https://dl.doubtnut.com/l/_b3kv4ECYgEFZ


Watch Video Solution

23. Two circles of radius 5 cm and 4 cm touch each other.

Find the distance between their centers.

Watch Video Solution

https://dl.doubtnut.com/l/_b3kv4ECYgEFZ
https://dl.doubtnut.com/l/_minTetw2QPxC


24. In the figure, two concentric circles are given and line

AB is tangent to the smaller circle at T. Show that T is

the midpoint of seg AB. 

Watch Video Solution

https://dl.doubtnut.com/l/_qLQVDXEFI9Pu


25. In the figure, seg AB is the diameter of the circle,

, Find (1) m(arc AXC) 


(2) m(arc BYC) 

Watch Video Solution

∠ABC = 30∘

https://dl.doubtnut.com/l/_9xIpWCZEV7t9


26. In the figure, a tangent segment PA touches the circle

at point A and secant PBC intersects the circle at points

B and C. If AP=15 cm and BP=10, then find BC. 

Watch Video Solution

27. Chords AB and CD of a circle intersect in point Q in

interior of a circle. If m(arc AD)=  and m(arc BC)= ,25∘ 31∘

https://dl.doubtnut.com/l/_jCNvG8CEucZR
https://dl.doubtnut.com/l/_6f7P8dTPM0Hc


find . 


Watch Video Solution

∠BQC

28. Prove that, angles inscribed in the same are arc

congruent. 

https://dl.doubtnut.com/l/_6f7P8dTPM0Hc
https://dl.doubtnut.com/l/_HpiYcfZ6mYn4


Watch Video Solution

29. Two circles intersect each other in points A and B.

Seg AB is the chord of both the circles . Point C is in the

exterior point of both the circles on the line AB. From

https://dl.doubtnut.com/l/_HpiYcfZ6mYn4
https://dl.doubtnut.com/l/_XG9tdNbqxNeo


the point C tangents are drawn to the circles touching

at M and N as shown. Completely the following to prove

CM= CN. 

Proof  


 ....( ) ....(1) 


 ...(Tangent secant segment property )

....(2) 

 From (1) and (2), 


 


:

CM 2 = CA × □ □

CN 2 = □ × CB

∴

CM 2 = □

https://dl.doubtnut.com/l/_XG9tdNbqxNeo


 

Watch Video Solution

∴ CM = CN

30. In the figure, P is the centre of the circle. Two chords

AB and CD are parallel to each other. Prove

https://dl.doubtnut.com/l/_XG9tdNbqxNeo
https://dl.doubtnut.com/l/_vHavbau88LVr


. 


Watch Video Solution

∠CPA = ∠DPB

31. Three circles touch each other pairwise externally. If

the distance between their centres is 5 cm and 7 cm and

6 cm. Find their radii.

https://dl.doubtnut.com/l/_vHavbau88LVr
https://dl.doubtnut.com/l/_WxVPLjxElCOZ


Watch Video Solution

32. In the figure P is the centre and A and B are the

endpoints of diameter of circle. C is a point of the circle

such that . Determine 

. 

∠ABC = 35∘

∠BAC, ∠PCB  and ∠PCA

https://dl.doubtnut.com/l/_WxVPLjxElCOZ
https://dl.doubtnut.com/l/_0cmRuGOJ3E8c


Watch Video Solution

33. In the figure, O is the centre of circle 

and m (arc PYR ) , then find the value of each of

the following  


(a) m ( arc QXR ) 

(b)  

∠QPR = 70∘

= 160∘

:

∠QOR

https://dl.doubtnut.com/l/_0cmRuGOJ3E8c
https://dl.doubtnut.com/l/_wvIZmClbXLWH


(c )  

Watch Video Solution

∠PQR

34. As per the figure, two circles intersect each other at

points P and Q. Point A is on PQ produced and AMD and

https://dl.doubtnut.com/l/_wvIZmClbXLWH
https://dl.doubtnut.com/l/_xAezlbHZtgLz


ASR are the secants to the circles. If AM = 3, MD = 5, AS =

4, The value of SR is :

Watch Video Solution

35.  is a rectangle. Taking AD as a diameter a

semicircle AXD is drawn which intersets diagonal BD at

X. If AB = 12 cm , AD == 9 cm , find the values of (i) BD (ii)

□ ABCD

https://dl.doubtnut.com/l/_xAezlbHZtgLz
https://dl.doubtnut.com/l/_KBzkZe3hHZ2M


BX. 

Watch Video Solution

36. As shown in the figure, AP is tangent to the circle at

point A. Secant through P intersects chord AY in point X,

https://dl.doubtnut.com/l/_KBzkZe3hHZ2M
https://dl.doubtnut.com/l/_2YyLWqmlm14P


such that AP=PX=XY. If PQ = 1, QZ =8. Then find AX

Watch Video Solution

37. In the figure, M is the point of contact of two

internally touching circles. The chord CD of the bigger

circle touches the smaller circle at point N. Line AMB is

https://dl.doubtnut.com/l/_2YyLWqmlm14P
https://dl.doubtnut.com/l/_Dt5TM6VyJCPl


their common tangent. Prove MN bisects  


Watch Video Solution

∠CMD

38. In the figure, O is the centre of the circle. Prove

. 
∠AOC = ∠AFC + ∠AEC

https://dl.doubtnut.com/l/_Dt5TM6VyJCPl
https://dl.doubtnut.com/l/_CsGwN98oqn6Z


Watch Video Solution

https://dl.doubtnut.com/l/_CsGwN98oqn6Z


39. In the figure, D E and F are midpoints of sedes AB,BC

and AC respectively. P is the foot of the perpendicular

from A to side BC. Show that points D, E,F and P are

concyclic. 

Watch Video Solution

40. In the figure, two circles with centers O and P

intersect each other at points D and C. Line AB intersects

https://dl.doubtnut.com/l/_iWu4mFss9h2M
https://dl.doubtnut.com/l/_WoKVWSkHN2FY


PRACTICE SET 3.1

the circle with centre O at points A and B and touches

the circle with centre P at point E. Prove

. 


Watch Video Solution

∠ADE + ∠BCE = 180∘

1. In the figure, the radius of a circle with centre C is 6

cm, line AB is a tangent at A. Answer the following

https://dl.doubtnut.com/l/_WoKVWSkHN2FY
https://dl.doubtnut.com/l/_Yxwwsd24Xn08


questions. 

What is the measure of  Why?. 


Watch Video Solution

∠CAB ?

2. In the figure, the radius of a circle with centre C is 6

cm, line AB is a tangent at A. Answer the following

questions. 

https://dl.doubtnut.com/l/_Yxwwsd24Xn08
https://dl.doubtnut.com/l/_dCft1J76OEBK


What is the distance of point C from line AB? Why? 

Watch Video Solution

3. In the figure, the radius of a circle with centre C is 6

cm, line AB is a tangent at A. Answer the following

questions. 

https://dl.doubtnut.com/l/_dCft1J76OEBK
https://dl.doubtnut.com/l/_rr7hZAKXORxI


d(A,B)=6cm, find d(B,C). 

Watch Video Solution

4. In the figure, the radius of a circle with centre C is 6

cm, line AB is a tangent at A and AB is 6 cm. Answer the

following questions. 

https://dl.doubtnut.com/l/_rr7hZAKXORxI
https://dl.doubtnut.com/l/_TcetoDVzzSjk


What is the measure of  Why?. 


Watch Video Solution

∠ABC ?

5. In the figure , O is the same of the circle. From point R,

seg RM and seg RN are tangent segments touching the

circle at M and N. If OR = 10cm and radius of the circle = 5

cm, then 

(i) What is the length of each tangnet segment ? 

https://dl.doubtnut.com/l/_TcetoDVzzSjk
https://dl.doubtnut.com/l/_WO22x66c6uz1


(iii) What si the measure of  ? 


(iii) Whatis the measure of  ? 

Watch Video Solution

∠MRO

∠MRN

6. In the figure , O is the same of the circle. From point R,

seg RM and seg RN are tangent segments touching the

circle at M and N. If OR = 10cm and radius of the circle = 5

cm, then 

https://dl.doubtnut.com/l/_WO22x66c6uz1
https://dl.doubtnut.com/l/_reReTwRHsvJ1


(i) What is the length of each tangnet segment ? 

(iii) What si the measure of  ? 


(iii) Whatis the measure of  ? 

Watch Video Solution

∠MRO

∠MRN

7. In the figure , seg AB is the chord of the circle with

centre O. if AM =4 cm then find MB and AB. State your

https://dl.doubtnut.com/l/_reReTwRHsvJ1
https://dl.doubtnut.com/l/_1P306jSUAkvE


reason. 

Watch Video Solution

8. Seg RM and seg RN are tangent segments of a circle

with centre O. Prove that seg OR bisects  as well∠MRN

https://dl.doubtnut.com/l/_1P306jSUAkvE
https://dl.doubtnut.com/l/_lh8iQW5MQ19I


as . 


Watch Video Solution

∠MON

9. What is the distance between two parallel tangents of

a circle having radius 4.5 cm ?. Justify your answer. 

https://dl.doubtnut.com/l/_lh8iQW5MQ19I
https://dl.doubtnut.com/l/_HTMgtF4QC33h


PRACTICE SET 3.2

Watch Video Solution

1. Two circles having radii 3.5 cm and 4.8 cm touch each

other internally. Find the distance between thir centres.

Watch Video Solution

https://dl.doubtnut.com/l/_HTMgtF4QC33h
https://dl.doubtnut.com/l/_CGQVo3wMU7VL


2. Two circles of radii 5.5 cm and 4.2 cm touch each other

externally. Find the distance between thir centres.

Watch Video Solution

3. If radii of two circles are 4 cm and 2.8 cm. Draw figure

of these circles touching each other. 

Externally.

Watch Video Solution

4. If radii of two circles are 4 cm and 2.8 cm. Draw figure

of these circles touching each other. 

https://dl.doubtnut.com/l/_CGQVo3wMU7VL
https://dl.doubtnut.com/l/_W5Mt6MVtHawS
https://dl.doubtnut.com/l/_KhEg1OPbPXSF
https://dl.doubtnut.com/l/_dOjmfSKG9gmA


Internally.

Watch Video Solution

5. In the figure, the circles with centers P and Q touch

each other at R.A line passing through R meets the

circles at A and B respectively. Prove that 

seg AP || seg BQ 

Watch Video Solution

https://dl.doubtnut.com/l/_dOjmfSKG9gmA
https://dl.doubtnut.com/l/_GqPHdHrg94vm


6. In the figure, the circles with centers P and Q touch

each other at R.A line passing through R meets the

circles at A and B respectively. Prove that 

 


Watch Video Solution

△ APR~ △ RQB

https://dl.doubtnut.com/l/_5bM4aznKjGKf


7. In the figure, the circles with centers P and Q touch

each other at R.A line passing through R meets the

circles at A and B respectively. 

Find  if  


Watch Video Solution

∠RQB ∠PAR = 35∘

8. In the figure, the circles with centeres A and B touch

each other at E. Line l is a common tangent which

https://dl.doubtnut.com/l/_GpTyoyRK5B7U
https://dl.doubtnut.com/l/_luREND4KmOal


PRACTICE SET 3.3

touches the circles at C and D respectively. Find the

length of seg CD, if the radii of the circle are 4 cm, 6 cm. 

Watch Video Solution

1. In the figure , points G,D,E,F are concyclic points of a

cicle with centreC. 

https://dl.doubtnut.com/l/_luREND4KmOal
https://dl.doubtnut.com/l/_FRjHK8SycePM


 


m ( arc DGF ) , 


find m(arc DE) and m(arc DEF ) . 

Watch Video Solution

∠ECF = 70∘

= 200∘

https://dl.doubtnut.com/l/_FRjHK8SycePM


2. In figure,  is an equilateral triangles. Prove

that, 

(1)  

(2) . 


Watch Video Solution

△ QRS

arcRS ≅arcQS ≅arcQR

m(arcQRS) = 240∘

https://dl.doubtnut.com/l/_h0xEw3yoK07n


PRACTICE SET 3.4

3. In figure, chord AB  chord CD, Prove that, arc AC 

 arc BD. 


Watch Video Solution

≅

≅

https://dl.doubtnut.com/l/_h0xEw3yoK07n
https://dl.doubtnut.com/l/_G07O8dL7NRtV
https://dl.doubtnut.com/l/_9S0vVUR2J0Mu


1. In the figure, in a circle with centre O, length of chord

AB is equal to the radius of the circle. Find measure of

each of the following. 

 

Watch Video Solution

∠AOB

https://dl.doubtnut.com/l/_9S0vVUR2J0Mu


2. In the figure , in a circle with centre O, length of chord

AB is equal to the radius of the circle. Find the measure

of each of the following  


(1)  

(2)  


(3) arc AB 

:

∠AOB

∠ACB

https://dl.doubtnut.com/l/_t1x4fRHEuC3T


(4) arc ACB 

Watch Video Solution

3. In the figure , in a circle with centre O, length of chord

AB is equal to the radius of the circle. Find the measure

https://dl.doubtnut.com/l/_t1x4fRHEuC3T
https://dl.doubtnut.com/l/_hhqdX70VoZkp


of each of the following  


(1)  

(2)  


(3) arc AB 

(4) arc ACB 

Watch Video Solution

:

∠AOB

∠ACB

https://dl.doubtnut.com/l/_hhqdX70VoZkp


4. In the figure , in a circle with centre O, length of chord

AB is equal to the radius of the circle. Find the measure

of each of the following  


(1)  

(2)  


(3) arc AB 

:

∠AOB

∠ACB

https://dl.doubtnut.com/l/_hhqdX70VoZkp
https://dl.doubtnut.com/l/_8Sn8UxvIgvLP


(4) arc ACB 

Watch Video Solution

5. In the figure,  is cyclic side PQ  RQ, 

, Find 


□ PQRS ≅

∠PSR = 110∘

https://dl.doubtnut.com/l/_8Sn8UxvIgvLP
https://dl.doubtnut.com/l/_sfKH5n8NGNRE


 


Watch Video Solution

∠PQR

6. In the figure,  is cyclic side PQ  RQ, 

, Find 


□ PQRS ≅

∠PSR = 110∘

https://dl.doubtnut.com/l/_sfKH5n8NGNRE
https://dl.doubtnut.com/l/_MCjCUtMlq8HZ


m(arc PQR) 

Watch Video Solution

7. In the figure,  is cyclic side PQ  RQ, 

, Find 


□ PQRS ≅

∠PSR = 110∘

https://dl.doubtnut.com/l/_MCjCUtMlq8HZ
https://dl.doubtnut.com/l/_UGiiKZLOsexQ


m(arc QR) 

Watch Video Solution

8. In the figure,  is cyclic side PQ  RQ, 

, Find 


□ PQRS ≅

∠PSR = 110∘

https://dl.doubtnut.com/l/_UGiiKZLOsexQ
https://dl.doubtnut.com/l/_lAnnZltjvML4


measure of  


Watch Video Solution

∠PRQ

9.  is cyclic , 

.Find measures of 

 and  .

□ MRPN

∠R = (5x − 13)
∘

, ∠N = (4x + 4)
∘

∠R ∠N

https://dl.doubtnut.com/l/_lAnnZltjvML4
https://dl.doubtnut.com/l/_potZyMa8THTU


Watch Video Solution

10. In figure, seg RS is a diameter of the circle with centre

O. Point T lines in the exterior of the circle. Prove that

 is an acute angle. 


Watch Video Solution

∠RT S

https://dl.doubtnut.com/l/_potZyMa8THTU
https://dl.doubtnut.com/l/_lvh8PcJPlrIh


11. Prove that, any rectangle is a cyclic quadrilateral. 

Watch Video Solution

12. In figure, altitudes YZ and XT of  intersect

at P. Prove that 

△ WXY

https://dl.doubtnut.com/l/_T0b19OEGto9W
https://dl.doubtnut.com/l/_FbsMfLJY5qC8


 is cyclic 


Watch Video Solution

□ WZPT

13. In figure, altitudes YZ and XT of  intersect

at P. Prove that 

△ WXY

https://dl.doubtnut.com/l/_FbsMfLJY5qC8
https://dl.doubtnut.com/l/_mbZeQUOsBbj9


Points X,Z,T,Y are concyclic. 

Watch Video Solution

14. In the figure, 

m ) arc NS )  


m ( arc EF ) =  


= 125∘

37∘

https://dl.doubtnut.com/l/_mbZeQUOsBbj9
https://dl.doubtnut.com/l/_baBCYNp8o1JB


find the measure , 


Watch Video Solution

∠NMS

15. In the figure, chords AC and DE intersect at B. If

, m (arc AE ) , find m (arc DC). 
∠ABE = 108∘ = 95∘

https://dl.doubtnut.com/l/_baBCYNp8o1JB
https://dl.doubtnut.com/l/_WrOvd7c84tqO


PRACTICE SET 3.5

Watch Video Solution

1. In the figure, ray PQ touches the circle at point Q. If PQ

=12, PR = 8, then find PS. 

https://dl.doubtnut.com/l/_WrOvd7c84tqO
https://dl.doubtnut.com/l/_Vof8p5CDyW0c


Watch Video Solution

2. In the figure, chord MN and chord RS intersect at

point D. 

(1) If RD = 15, DS = 4, MD = 8 , find DN. 

https://dl.doubtnut.com/l/_Vof8p5CDyW0c
https://dl.doubtnut.com/l/_wzKZ2cUxogjF


92) If RS = 18, MD = 9 , DN = 8 , find DS . 

Watch Video Solution

3. In the figure, chord MN and chord RS intersect at

point D. 

(1) If RD = 15, DS = 4, MD = 8 , find DN. 

https://dl.doubtnut.com/l/_wzKZ2cUxogjF
https://dl.doubtnut.com/l/_F336nRYIQQUQ


92) If RS = 18, MD = 9 , DN = 8 , find DS . 

Watch Video Solution

4. In the figure, O is the centre of the circle and B is a

point of contact. Seg OE  seg AD, AB = 12, AC = 8, find⊥

https://dl.doubtnut.com/l/_F336nRYIQQUQ
https://dl.doubtnut.com/l/_rWq5r97nBoNp


(i) AD (ii) DC (iii) DE. 

Watch Video Solution

https://dl.doubtnut.com/l/_rWq5r97nBoNp


5. In figure, if PQ=6,QR=10,PS=8, find TS. 

Watch Video Solution

6. In figure,  EF is a diameter and seg DF is a tangent

segment. The radius of the circle is r. Prove that,

seg

https://dl.doubtnut.com/l/_kfL9txHt1URs
https://dl.doubtnut.com/l/_dJUJ2W4Y0dYt


PROBLEM SET 3

. 


Watch Video Solution

DE × GE = 4r2

https://dl.doubtnut.com/l/_dJUJ2W4Y0dYt


1. Two circles of radii 5.5 cm and 3.3 cm respectively

touch each other. What is the distance between their

centre ?

A. 4.4 cm

B. 8.8 cm

C. 2.2 cm

D. 8.8 or 2.2 cm

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nNvlfJllaUzz


2. Two circle intersect each other such that each circle

passes through the centre of the other. If the distance

between their centres is 12 , what is the radius of each

circle?

A. 6 cm

B. 12 cm

C. 24 cm

D. connot say

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gPBMNHSfquo4


3. A circle touches all sides of a parallelogram. So the

parallelogram must be a

A. rectangle

B. rhombus

C. square

D. trapezium

Answer: B

Watch Video Solution

4. Length of a tangent segment drawn from a point

which is at a distnace 12.5 cm from the centre of a circle

https://dl.doubtnut.com/l/_cZbdDKQ4NpxY
https://dl.doubtnut.com/l/_1GOA556H5sV8


is 12cm , find the diameter of the circle.

A. 25 cm

B. 24 cm

C. 7 cm

D. 14 cm

Answer: C

Watch Video Solution

5. If two circles touch externally , how many common

tangents can be drawn to them ?

A. One

https://dl.doubtnut.com/l/_1GOA556H5sV8
https://dl.doubtnut.com/l/_zOr62UHscUjF


B. Two

C. Three

D. Four

Answer: C

Watch Video Solution

6.  is inscribed in arc ACB of a circle with centre O

. If  , find m ( arc ACB ) .

A. 

B. 

C. 

∠ACB

∠ACB = 65∘

∠65∘

∠130∘

∠295∘

https://dl.doubtnut.com/l/_zOr62UHscUjF
https://dl.doubtnut.com/l/_DnrJORBLUZNc


D. 

Answer: D

Watch Video Solution

∠230∘

7. Chords AB and CD of a circle interset inside the circle

at point E. If AE = 5.6 , EB = 10 cm , CE = 8 ,find ED.

A. 7

B. 8

C. 11.2

D. 9

Answer: A

https://dl.doubtnut.com/l/_DnrJORBLUZNc
https://dl.doubtnut.com/l/_1g5W2UwGrviI


Watch Video Solution

8. In a cyclic  ABCD, twice the measure of  is thrice

the measure of  . Find the measure of .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

□ ∠A

∠C ∠C

∠36∘

∠72∘

∠90∘

∠108∘

https://dl.doubtnut.com/l/_1g5W2UwGrviI
https://dl.doubtnut.com/l/_8EJBx9ZhLxKP


9. Points A,B,C are on a circle, such that m( arc AB ) = m (

arc BC )  . No point, except point B, is common

to the arcs. What type is the ?

A. Equilateral triangle

B. Scalene triangle

C. Right angled triangle

D. Isoseles triangle

Answer: A

Watch Video Solution

= 120∘

ΔABC

https://dl.doubtnut.com/l/_k6TxmYRUkM3P


10. Seg XZ is a diameter of a circle. Point Y lies in its

interor. How many of the followint statements are true? 

(1) It is a not possible that  is an acute angle. 


(2)  can't be a right angle 

(3)  is an obtuse angle. 


(4) Can't make a dfinite statement for measure of

A. Only one

B. Only two

C. Only three

D. All

Answer: C

∠XY Z

∠XY Z

∠XY Z

∠XY Z

https://dl.doubtnut.com/l/_eXbtK33QOHUR


Watch Video Solution

11. Line l touches a circle with centre O at point P. If

radius of the circle is 9 cm, answer the following: 

What is d(O,P)=? Why? 

Watch Video Solution

https://dl.doubtnut.com/l/_eXbtK33QOHUR
https://dl.doubtnut.com/l/_tTzeGtWpZWI7


12. Line l touches a circle with centre O at point P. If

radius of the circle is 9 cm, answer the following: 

If d(O,Q)=8 cm, where does the point Q lie? 

Watch Video Solution

13. Line l touches a circle with centre O at point P. If

radius of the circle is 9 cm, answer the following: 

https://dl.doubtnut.com/l/_j8h6CEIjwzZH
https://dl.doubtnut.com/l/_rK6VyHpiuzV4


If d(O,R)=15 cm, how many locations of point R are line

on l? At what distance will each of them be from point P?

Watch Video Solution

14. In the figure, M is the centre of the circle and seg KL

is a tangent segment. If  then

find, 

(1) Radius of the circle, 

MK = 12, KL = 6√3

https://dl.doubtnut.com/l/_rK6VyHpiuzV4
https://dl.doubtnut.com/l/_gWfUxqktuHAU


(2) Measures of  and . 


Watch Video Solution

∠K ∠M

15. In the figure, M is the centre of the circle and seg KL

is a tangent segment. If  then

find, 

(1) Radius of the circle, 

MK = 12, KL = 6√3

https://dl.doubtnut.com/l/_gWfUxqktuHAU
https://dl.doubtnut.com/l/_VDwMkNuO9FLC


(2) Measures of  and . 


Watch Video Solution

∠K ∠M

16. In the figure, O is the centre of the circle of the circle.

Seg AB, seg AC are tangent segments. Radius of the

https://dl.doubtnut.com/l/_VDwMkNuO9FLC
https://dl.doubtnut.com/l/_4Z66ivy4J1e2


circle is r and l(AB)=r. Prove that,  is a square. 


Watch Video Solution

□ ABOC

17. In the figure,  is a parallalogram. It

circumscribes the cirlcle with centre T. Point E,F,G,H are

□ ABCD

https://dl.doubtnut.com/l/_4Z66ivy4J1e2
https://dl.doubtnut.com/l/_9pyilom24rTS


touching points. If AE = 4.5 ,EB = 5.5 , find AD. 

Watch Video Solution

18. In the figure, circle with centre M touches the circle

with centre N at point T. Radius RM touches the smaller

https://dl.doubtnut.com/l/_9pyilom24rTS
https://dl.doubtnut.com/l/_miQbdSGeNt9o


circle at S. Radii of circles are 9 cm and 2.5 cm. Find the

answers to the following questions hence find the ratio

MS  SR 


(1) Find the length of segment MT 

(2) Find the length of seg MN 

(3) Find the measure of . 


Watch Video Solution

:

∠NSM

https://dl.doubtnut.com/l/_miQbdSGeNt9o


19. In the figure, circle with centre M touches the circle

with centre N at point T. Radius RM touches the smaller

circle at S. Radii of circles are 9 cm and 2.5 cm. Find the

answers to the following questions hence find the ratio

MS  SR 


(1) Find the length of segment MT 

(2) Find the length of seg MN 

:

https://dl.doubtnut.com/l/_miQbdSGeNt9o
https://dl.doubtnut.com/l/_mnIXkiNfaJFM


(3) Find the measure of . 


Watch Video Solution

∠NSM

20. In the figure, circle with centre M touches the circle

with centre N at point T. Radius RM touches the smaller

circle at S. Radii of circles are 9 cm and 2.5 cm. Find the

https://dl.doubtnut.com/l/_mnIXkiNfaJFM
https://dl.doubtnut.com/l/_5NSBvU8kz81I


answers to the following questions hence find the ratio

MS  SR 


(1) Find the length of segment MT 

(2) Find the length of seg MN 

(3) Find the measure of . 


Watch Video Solution

:

∠NSM

https://dl.doubtnut.com/l/_5NSBvU8kz81I
https://dl.doubtnut.com/l/_oV3JOLyn4YTo


21. In the figure, circles with centres X and Y touch each

other at point Z. A secant passing through Z intersects

the circles at points A and B respectively. Prove that,

raduis XA || radius YB. Fill in the blanks and complete the

proof: 

Watch Video Solution

https://dl.doubtnut.com/l/_oV3JOLyn4YTo


22. In the figure, circles with centres X and Y touch

internally at point Z. Seg BZ is a chord of bigger circle

and it intersects smaller circle at point A. Prove that, seg

AX || seg BY. 

Watch Video Solution

https://dl.doubtnut.com/l/_CQHdvtB5k0Dv


23. In the figure, line l touches the circle with centre O at

point P. Q is the midpoint of radius OP. RS is a chord

thorugh Q such that chords RS  line l. If RS = 12 , find

the radius of the circle. 

Watch Video Solution

∣∣

https://dl.doubtnut.com/l/_CQHdvtB5k0Dv
https://dl.doubtnut.com/l/_fyVA37x2TY01


24. In the figure, seg AB is a diameter of a circle with

centre C. Line PQ is a tangent, which touches the circle

at point T. seg AP  line PQ and seg BQ  line PQ.

Prove that, seg CP  seg CQ. 


Watch Video Solution

⊥ ⊥

≅

25. Draw circles with centres A,B and C each of radius 3

cm, such that each circle touches the other two circles.

https://dl.doubtnut.com/l/_WKHYp5ss8sQn
https://dl.doubtnut.com/l/_t29UZ1z8YTWn


Watch Video Solution

26. Prove the any three points on a circle cannot be

collinear .

Watch Video Solution

27. In the figure, line PR touches the circle at point Q.

Answer the following questions with the help of the

figure: 

https://dl.doubtnut.com/l/_t29UZ1z8YTWn
https://dl.doubtnut.com/l/_POrFoVc8ljmN
https://dl.doubtnut.com/l/_P9F1ZEmYB7P5


What is the sum of ? 


Watch Video Solution

∠T AQ  and ∠T SQ

28. In the figure, line PR touches the circle at point Q.

Answer the following questions with the help of the

figure: 

https://dl.doubtnut.com/l/_P9F1ZEmYB7P5
https://dl.doubtnut.com/l/_L6Te326jWcEM


Find the angles which are congruet to . 


Watch Video Solution

∠AQP

29. In the figure, line PR touches the circle at point Q.

Answer the following questions with the help of the

figure: 

https://dl.doubtnut.com/l/_L6Te326jWcEM
https://dl.doubtnut.com/l/_cya2OvqFE9tN


Which angles are congruent to ? 


Watch Video Solution

∠QT S

30. In the figure, line PR touches the circle at point Q.

Answer the following questions with the help of the

figure: 

https://dl.doubtnut.com/l/_cya2OvqFE9tN
https://dl.doubtnut.com/l/_m6wJy0G3HxXs


,find the measure of  and arc TS. 


Watch Video Solution

∠T AS = 65∘ ∠T QS

31. In the figure, line PR touches the circle at point Q.

Answer the following questions with the help of the

figure: 

If  find measure of ∠AQP = 42∘  and ∠SQR = 58∘

https://dl.doubtnut.com/l/_m6wJy0G3HxXs
https://dl.doubtnut.com/l/_cSyX9MXsg1xo


. 


Watch Video Solution

∠AT S

32. In the figure, O is the centre of a circle, chord PQ 

chord RS. If ,

find 

≅

∠POR = 70∘  and m(arcRS) = 80∘

https://dl.doubtnut.com/l/_cSyX9MXsg1xo
https://dl.doubtnut.com/l/_pMlyCPDZAbDl


(arc PR) 

Watch Video Solution

33. In the figure, O is the centre of a circle, chord PQ 

chord RS. If ,

≅

∠POR = 70∘  and m(arcRS) = 80∘

https://dl.doubtnut.com/l/_pMlyCPDZAbDl
https://dl.doubtnut.com/l/_dOX7G2YhjeUo


find 

(arc QS) 

Watch Video Solution

https://dl.doubtnut.com/l/_dOX7G2YhjeUo


34. In the figure, O is the centre of a circle, chord PQ 

chord RS. If ,

find 

(arc QSR) 

Watch Video Solution

≅

∠POR = 70∘  and m(arcRS) = 80∘

https://dl.doubtnut.com/l/_fUgx2jHJUZDT


35. In the figure, m(arc WY)= ,m(arc ZX)= ,then 

Find the measure of . 


Watch Video Solution

44∘ 68∘

∠ZT X

https://dl.doubtnut.com/l/_Y06bunnur5Bq


36. In the figure, m(arc WY)= ,m(arc ZX)= ,then 

If WT=4.8, TX=8.0, YT=6.4, find TZ. 

Watch Video Solution

44∘ 68∘

https://dl.doubtnut.com/l/_dCHix6zKDEMC


37. In the figure, m(arc WY)= ,m(arc ZX)= ,then 

If WX=25, YT=8, YZ=26, find WT. 

Watch Video Solution

44∘ 68∘

https://dl.doubtnut.com/l/_McRQor7atuJs


38. In the figure, 

(1) m (arc CE ) , m (arc BD ) , find measure of 

 . 


(2) If AB = 4.2 , BC = 5.4 , AE = 12.0, find AD . 

(3) If AB = 3.6, AC = 9.0 , AD = 5.4 , find AE. 

Watch Video Solution

= 54∘ 23∘

∠CAE

https://dl.doubtnut.com/l/_vNVmjs1m3Vgd


39. In the figure, 

(1) m (arc CE ) , m (arc BD ) , find measure of 

 . 


(2) If AB = 4.2 , BC = 5.4 , AE = 12.0, find AD . 

(3) If AB = 3.6, AC = 9.0 , AD = 5.4 , find AE. 

Watch Video Solution

= 54∘ 23∘

∠CAE

https://dl.doubtnut.com/l/_lpCk4CbHDA5b


40. In the figure, 

(1) m (arc CE ) , m (arc BD ) , find measure of 

 . 


(2) If AB = 4.2 , BC = 5.4 , AE = 12.0, find AD . 

(3) If AB = 3.6, AC = 9.0 , AD = 5.4 , find AE. 

Watch Video Solution

= 54∘ 23∘

∠CAE

https://dl.doubtnut.com/l/_m4ati0ieUEGc


41. In the figure, chord EF || chord GH. Prove that, chord

EG  chord FH. Fill in the blanks and write the proof 


Watch Video Solution

≅

42. In the figure, P is the point of contact. 

If m(arc PR)=140∘, ∠POR=36∘, find m(arc PQ). 

https://dl.doubtnut.com/l/_XaHrKv5w3kup
https://dl.doubtnut.com/l/_Mzff3ClXvuR1


Watch Video Solution

43. In the figure, P is the point of contact. 

If OP=7.2,OQ=3.2, find OR and QR. 

https://dl.doubtnut.com/l/_Mzff3ClXvuR1
https://dl.doubtnut.com/l/_tmwbR78kllfM


Watch Video Solution

44. In the figure, P is the point of contact. 

If OP=7.2,OR=16.2, find QR. 

https://dl.doubtnut.com/l/_tmwbR78kllfM
https://dl.doubtnut.com/l/_JmaQfLdEX1AT


Watch Video Solution

45. In figure, circles with centers C and D touch internally

at point E. D lies on the inner circle. Chrd EB of the outer

circle intersects inner circle at point A. Prove that, seg EA

https://dl.doubtnut.com/l/_JmaQfLdEX1AT
https://dl.doubtnut.com/l/_eOx6JPZFPxK0


 seg AB. 


Watch Video Solution

≅

46. In figure, seg AB is a diameter of a circle with centre

O. The bisector of  intersects the circle at point D.

Prove that seg AD  seg BD. Complete the following

∠ACB

≅

https://dl.doubtnut.com/l/_eOx6JPZFPxK0
https://dl.doubtnut.com/l/_k1WaZUjWYxt5


proof by filling in the blanks 

Watch Video Solution

47. In the figure, seg MN is a chord of a circle with centre

O. MN = 15, L is a point on chord MN such that ML = 9

https://dl.doubtnut.com/l/_k1WaZUjWYxt5
https://dl.doubtnut.com/l/_LjX7A0WhKBas


and d( O, L ) = 5. Find the radius of the circle. 

Watch Video Solution

48. In figure, two circles intersect each other at points S

and R. Their common tangent PQ touches the circle at

https://dl.doubtnut.com/l/_LjX7A0WhKBas
https://dl.doubtnut.com/l/_GB7RIICBbhVJ


points P,Q. Prove that, . 


Watch Video Solution

∠PRQ + ∠PSQ = 180∘

49. In figure, two circles intersect at points M and N.

Secants drawn through M and N intersect the circles at

points R,S and P,Q respectively. Prove that : seg SQ || seg

https://dl.doubtnut.com/l/_GB7RIICBbhVJ
https://dl.doubtnut.com/l/_yJRUr80zXZ7k


RP. 

Watch Video Solution

50. In figure, two circles intersect each other at points A

and E. Their common secant through E intersects the

circles at points B and D. The tangents of the circles at

points B and D intersect each other at point C. Prove

https://dl.doubtnut.com/l/_yJRUr80zXZ7k
https://dl.doubtnut.com/l/_mCazKY7NbMdw


Challenging Questions

that  ABCD is cyclic. 


Watch Video Solution

□

1. In the figure, a semicircle with its diameter on the

hypotenuse of a right angled triangle, is shown touching

https://dl.doubtnut.com/l/_mCazKY7NbMdw
https://dl.doubtnut.com/l/_zVQnf95HgoBb


the remaining sides of the triangle. The two parts of the

hypotenuse made by the centre of the semicircle have

lenghs 15 cm and 20 cm respectively. Find the radius of

the semicicle. 

Watch Video Solution

2. A square has two of its vertices on a circle and the

other two on the tangent to the circle. If the diameter of

the circle is 10. determine the side of the square.

https://dl.doubtnut.com/l/_zVQnf95HgoBb
https://dl.doubtnut.com/l/_pAXPkpZ0ndVJ


Watch Video Solution

3. Seg AB is a diameter of a circle with centre P. Seg AC is

a chord. A secant through P and parallel to seg AC

intersects the tangent drawn at C in D. Prove that line

https://dl.doubtnut.com/l/_pAXPkpZ0ndVJ
https://dl.doubtnut.com/l/_VAmzZskHDwTF


DB is a tangent to the circle. 

Watch Video Solution

4. In the figure, points P, B and Q are points of contact of

respective tangents. Line QA is parallel to line PC. If

https://dl.doubtnut.com/l/_VAmzZskHDwTF
https://dl.doubtnut.com/l/_kMEtVvofTbMp


QA=7.2 cm , PC=5 cm, find the radius of the circle. 

Watch Video Solution

5. If the diagonals of a cyclic quadrilateral are

perpendicular to each other, show that the line passing

https://dl.doubtnut.com/l/_kMEtVvofTbMp
https://dl.doubtnut.com/l/_KyAMH0oQ7owX


through the point of intersection of diagonals and

midpoint of a side is perpendicular to the opposite side.

Watch Video Solution

6. A cyclic trapezium is isosceles and its diagonals are

equal.

Watch Video Solution

7. The diagonals of cyclic quadrilateral ABCD are

congruent. Show that AD=BC and seg AB || seg CD.

Watch Video Solution

https://dl.doubtnut.com/l/_KyAMH0oQ7owX
https://dl.doubtnut.com/l/_tNt1VA1jmzpB
https://dl.doubtnut.com/l/_8vtPnE4q6bS7
https://dl.doubtnut.com/l/_PWcxDXZaaIlX


8. In the figure, two circles touch internally at point P.

chord AB of the larger circle intersects the smaller circle

in C and D. Prove . 


Watch Video Solution

∠CPA ≅∠DPB

https://dl.doubtnut.com/l/_PWcxDXZaaIlX


9. The quadrilateral formed by angle bisectors of a cyclic

quadrilateral
is also cyclic.

Watch Video Solution

10. A circle with centre P is inscribed in the  ABC. Side

AB, side BC and side AC touch the circle at points L,M

and N respectively. Radius of the circle is r. Prove that:

△

https://dl.doubtnut.com/l/_Z1on6XVB7sWj
https://dl.doubtnut.com/l/_eMBUpnhTnA5j


. 


Watch Video Solution

A( △ ABC) = (AB + BC + AC) × r
1

2

https://dl.doubtnut.com/l/_eMBUpnhTnA5j

